DELHI PUBLIC SCHOOL, BHILAI

Sample Question Paper

SUBJECT- ENGLISH

Class : VIII Max. Marks : 80

Date :

= Time : 3 Hours

General Instructions:

Read the instructions carefully before answering the questions.

Attempt all the questions in each section before going to the nextsection.
All the answers must be correctly numbered and written neatly.

For multiple choice questions, option numbers should be clearly specified

along with the answers.
The paper consists of 4 sections:
Section A — Reading: (16 marks)

Section B — Writing: (18 marks)
Section C — Grammar: (16 marks)
Section D — Literature: (30 marks)

Section — A : READING (16 Marks)

A.1 Read the passage given below and answer the questions that follow: (8)

Robotic Surgery

In India, the use of robots in surgeries is still at an early stage, but it has already been
hailed as the future of surgical procedures.

In a robotic surgery, robotic arms and instruments are inserted into the human body
through a 5-10 mm hole. The surgeon takes his position in front of a computer and gives
instructions. These instructions are transmitted to the robotic arms, which actually
carry out the surgical steps on the body. So, in a way, the surgery is a joint operation
by the surgeon and the robot.

. Robotic surgery has several advantages over normal mechanical surgery. Robotic

arms have a wider range of movements which is not possible to achicve with human
wrists and fingers. Surgery can be performed with more accuracy and efficient
movements. Since the surgeon is all the time getting a 3- dimensional view of the
inside of the body, he is able to operate on areas which are not easy to access in open
surgery. He also feels less stressed up and gets less fatigued.

The hole through which the instruments are inserted, being very small, the healing
process is really fast. The body gets fewer and smaller scars. There are fewer
infections and the number of people being readmitted to the hospital is much smaller.
To top it all, robotic surgery proves to be much cheaper. India offers reliable robotic
surgery whichis 60-80 percent cheaper as compared to prevailing rates in the US. So,
India is gradually becoming a preferred destination on the medical tourism map. The
number of international patients visiting India for robotic surgery is slowly but
steadily on the rise.

However, the number of Indian surgeons who have made their mark in robotic surgery



is not very large because our educational institutions lack facilities to impart the
specialized knowledge or the specialized practical training required for it.

Answer the following questions

1. In arobotic surgery_ .
a) the surgeon carries out operation directly on human body

b) the surgeon gives instruction in computer and robotic arms carry out surgical steps

¢) no surgery is done on the body

d) all of the above
2. A robotic surgery is carried out by__.
a) a4 computer
b) arobot only
¢) asurgeon only
d) a robot and a surgeon jointly
Why is robotic surgery preferred over normal mechanical surgery?
Why is healing process much faster in a robotic surgery?
Why is medical tourism in India increasing for robotic surgery?
Why did Indian surgeons fail to make a mark in robotic surgery ?
Find a word from the passage (para 5) which means ‘trustworthy’.
Find a word from the passage (para 3) which is the antonym of ‘energetic’.

R

A.2. Read the poem carefully and answer the questions that follow: (8)
Night

1. The sun descending in the
westThe evening star does
shine; The birds are silent
in their nest, And I must
seek for mine.

2. The moon, like a
flower, In heaven's
high bower, With
silent delight
Sits and smiles on the night.

3. Farewell, green fields and happy
groves, Where flocks have took
delight.

Where lambs have nibbled, silent
moves The feet of angels bright;

4. Unseen they pour
blessing, And joy
without ceasing

On each bud and



blossom
And each sleeping bosom

5. They look in every
thoughtless nest, Where birds
are covered warm; They visit
caves of every beast,

To keep them all from harm.

William Blake
Answer the following questions

1. Where does the sun descend?

2. The poet compares moon to a

3. Where did the flocks take delight?
4. Why did the angels visit the caves of every beast?

5. The angel comes down on earth to
a) spread moonlight
b) make people dance and have fun

¢) pour blessing and joy
d) take blessing and joy

6. Who look into every nest?
a) The angels
b) The birds
¢) The lambs
d) The humans

7.Find a word in stanza 3 which means ‘a small forest’.
8. Find a word in stanza 1 which is the antonym of *ascending’.

Section — B : WRITING (18 Marks)

B.1. Yoga is a wonderful gift from India to the world. It has been globally accepted as the
simplest and the best way to keep fit, healthy and discase free. Write an article for your
school magazine on the topic ‘Yoga Everyday' in about 100 words. You are
Akshita/Akshat Verma. (5)

B.2.

You are Pallavi/Pallav Bansal, the Head Girl/Boy of St. Stephen’s Convent, Chandigarh.
Draft a notice in about 50 words informing the students of 8" class about an educational
tour to Amritsar and Wagah border for two days. Give all the necessary information.(35)

B.3 You are Mohit/ Mohita , living at 206,Rohini Nagar, New Delhi . Write a letter to your friend
who lives in Germany, describing how you celebrated the festival of Diwali, in not more than 120

words. (8)
Include the points given below:

e Diwali, the greatest festival in India
e lamps, candles, lights illuminating houses, buildings



e sweets and gifts exchanged with friends and relatives
« moments of happiness and excitement
e |nvite your friend on next Diwali

OR

Write a short story based on the given hints in about 120- 150 words. Give a suitable title.

An old lady becomes blind—consults a doctor—commits to pay him—huge amount if he is
able to cure her eyes—doctor takes away her furniture everyday—finally cures her eyes—
fee demanded --- refused by the lady—reason being the cure incomplete—doctor filed a
court case—reason given that—she is still unable to see—furniture missing—verdict given in
her favour.

Section — C : GRAMMAR (16 Marks)
C.1. Choose the correct preposition from the given options and fill in the blanks. (2)

a) The cat jumped the window.
i) with ii) over in) through iv) at
b) Can you place the chair the window?

i) beside ii) besides iii) before iv) beneath
C.2. Choose the correct option for the underlined verb. (2)

a) The tailor embroidered the dress with ornamental designs

iy Transitive verb 1) Intransitive verb iii) Non-finite-verb iv) None of these
b) Travelling improves one’s knowledge of the world.

iy Infinitive ii) Finite verb iii) Participle iv) Gerund

C.3. Choose the type of adjective from the given options for the underlined word. (2)

a) My father always drinks coffee.
i) Interrogative adjective ii) Possessive adjective iii) Adjective of Quality
iv) Emphasising adjective
b) These mangoes are ripe.
i) Demonstrative adjective ii) Adjective of Quality iii) Adjective of Quantity
iv) Adjective of Number
C.4. Choose the correct pronouns from the given options and fill in the blanks. (2)

a) The girl _ father is a teacher .is my friend.
ihwho 1) whom  iii) which iv)whose
b) You alone would do the work
i)y myself 1i) ourselves iii) yourself iv) yourselves

C.5. a) Fill in the blanks with simple past tense (2)
G

i)Ankit __ ( meet) me at the railway station.
b) Fill in the blanks with present perfect continuous tense
ii) They _ (live) with us since2021.
C.6. Change the following sentences into passive voice. (2)

a) I had clicked the photos.
b) Clear the table quickly.



(2)

.7 Write the meaning of the following idioms

1 Brown as a bemy

by Blue in the face

¢ % Fill in the blanks with the abstract noun forms of the words in the brackets (2)

sy He speaks on the stage with full . {confident)

b) He was awarded for his _____.(brave)

Section — D : LITERATURE ( 30Marks)

D.1. Read the following extracts and answer the questions that follow. (3x3=9)

A “Come and hire me,”l cnied, while

in the moming
| was walking on the stone-paved

road.

Sword in hand the King came in his
chanot.

He held my hand and said, “1 will

hire you with my power.”

1) Who is the speaker of the above lines?

i)king ii)a child iii) man who is looking for work iv) maid
b) The king's sword in hand suggests

i) money ii)wealth 1ii) courage iv) power
¢) Did the speaker accept the king's offer?

i) Yes 1) no iii) none of the above

B *The man looked greatly
surpriscd. We met everyday for
whole week. | arranged for a car
to take you to the Hudroo falls.’

&) Who do ‘T’ refer t0?
b) Name the author of the above extract.
¢) The man is talking to whom?

C. "I folded the letter again and slipped it carefully back into its envelope. | kept
awake all pight. By morning | knew what I had to do. 1 drove into Bridport.’

3) Who had written the letter to whom?
b) Why did the speaker go to Bridpon?



¢) Where did the speaker find the letter ?

D.2. Answer any three of the following questions in about 30-40 words each.

a) Mention two things that are clear from the height.

b) Why did Tilly’s family come to Thailand?

(2x3)

¢) The cricket says, “Oh! What will become of me?” When does he say it and why?

d) Who was Chunilal? What did he want from Bepin Babu?
D.3. Answer any one of the following questions in about 75 words.
How are Meghna and Alma’s stories similar ?
OR

Why did Bepin hesitate to visit Mr. Mukherjee? Why did he
finally decide to phone him?

D.4. Answer any three of the following questions in about 30-40 words each.

a) In what way the witches cheat Macbeth?
b) What happened when Cesario visited Olivia?
¢) Why did Shylock hate Antonio?
d) What plans did Viola make to earn her living?
D.5. Answer any one of the following questions in about 75 words.
Describe the confusion that took place when Viola met Sebastian.
OR

How did Portia a Belthazer, help Antonio?

EE E R TR R R E 2 b b ko

(3)

(2x3=6)

(4)
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Class -VIll
Session 2023-24
Subject - Mathematics
First Term Sample Question Paper
Time Allowed: 3 Hours Maximum Marks: 80

General Instructions:

1. This Question Paper has 5 Sections A, B, C, D, and E.

2. Section A has 20 Multiple Choice Questions (MCQs) carrying 1 mark each.

3. Section B has 5 questions carrying 2 marks each,

4. Section C has 6 questions carrying 3 marks each.

5. Section D has 4 questions carrying 5 marks each.

6. Section E has 3 Case Based integrated units of assessment (4 marks each) with sub-parts of the values of 1,
1 and 2 marks each respectively.

7. All Questions are compulsory. However, an internal choice in 2 Questions of 2 marks, 2 Questions of 3
marks and 2 Questions of 5 marks has been provided. An internal choice has been provided in the 2 marks
questions of Section E.

[SECTION:-A|
Q.1 What is the reciprocal nfé ?
(a)1 (b)9 (c)0 (d) None of the above
Q.2 The solution of 2x-3=7 is:
(a)5 (b)7 (c) 12 (d) 11

Q.3 Which one of the following is a regular quadrilateral?
(a) Square (b) Trapezium (¢) Rhombus (d) Rectangle

Q.4 If a coin is flipped in the air, what is the probability of getting a Head?
()2 (b3 ©1 (o

Q.5 Which of the following is a perfect square?
(a) 500 (b) 525 (c) 141 (d) 625

Q.6 The one's digit of the cube of 53 is:
(@9 )7 (c) 3 (D1

Q.7 The ratio of speed of cycle 12 km per hour to the speed of scooter 36 km per hour is:
(a) 1:2 (b) 1:3 (c) 1:4 (d) 1:5

Q.81f A and £B are two adjacent angles of a parallelogram. If £A = 80° then 4B =?
(a) 90° (b) 70° (c) 100° (d) 110°

Q.9 If a die is thrown in the air, the probability of getting even numbers is:

()5 (b) 3 GF (@0

Q.10 What will be the number of zeros in square of 4007

(a) 2 ®)3 - (c) 4 ) 6

Q.11 By what number should we divide 135 to get a perfect cube?
(@5 (b) 3 ©7 (d)9



Q.12 The multiplicative identity of rational numbers is:

(@0 (b) 2 (©1 (d)-1

Q.13 The percentage of 2:5 is:
(a) 90% (b) 70% (c) 40% (d) 50%

Q.14 If 50% of students are good in mathematics out of 20 students. Then the number of students
good in mathematics is:
(a) 10 (b) 15 (©)5 (d) 11

Q.15 Each of the angles of a square is:
(a) Acuteangle  (b) Right angle (c) Obtuse angle  (d) Reflex angle

Q.16 A bag has 4 red balls and 4 green balls, what is the probability of getting a red ball randomly?
()3 (b) % ©3 (d)0

Q.17 The diagonals of a rectangle are 2x + 1 and 3x - 1, respectively. then the value of x is:

(a) 1 (b) 2 (©) 3 (d) 4

Q.18 An item marked at Rs. 840 is sold for Rs. 714. The discount % is:
(a) 10% (b) 15% (c) 20% (d) 25%

DIRECTION: In the question number 18 and 20, a statement of assertion (A) is followed by a statement
of Reason (R). Choose the correct option

(o) Both assertion (A) and reason (R) are true and reason (R) is the correct explanation of assertion (A)

(b) Both assertion (A) and reason (R) are true and reason (R) is not the correct explanation of assertion (A)

(c) Assertion (A) is true but reason (R) is false.

(d) Assertion (A) is false but reason (R) is true.

Q.19 Assertion (A): - The diagonals of a square bisect each other at right angles.
Reason (R): - The diagonals of a square do not divide it into four equal parts.

Q.20 Assertion (A): - The simple interest on Rs 1000 for 2 years at 8% per annum is Rs 160.
Reasons (R): - Simple interest is a quick and easy method of calculating the interest charge on a loan.

SECTION: -B
1 4 | 4
Q.21 Tell what property allows you to compute 3 % (6 X —3-) as (; % &) X2

Q.22 Simplify: 3(t- 3) = 5(2t + 1)
OR

4
Solve:x = T (x+10)

Q.23 If you have a spinning wheel with 3 green sectors, 1 blue sector and 1 red sector, what is the probability
of getting a green sector? What is the probability of getting a non blue sector?



Q.24 Is 68600 a perfect cube? If not, find the smallest number by which 68600 must be multiplied to get a
perfect cube.

Q.25 The cost of a pair of roller skates at a shop was Rs450. The sales tax charged was 10%. Find the bill
amount.

OR

The population of a place increased to 54,000 in 2003 at a rate of 5% per annum, What would be its

population in 2005?

. . —4 3 15 —14
Q.26 Fmd.? X X=X T)

Q.27 Find the measure of each exterior angle of a regular polygon of (i) 9 sides (ii) 15 sides
OR

Given a parallelogram ABCD. Complete each statement along with the definition or property used.
(1) AD =...... (ii) £ DCB =...... (iii) OC = .....

Q.28 Numbers 1 to 10 are written on ten separate slips (one number on one slip), kept in a box and mixed
well. One slip is chosen from the box without looking into it. What is the probability of.
(i) getting a number 67 (ii) getting a number less than 67 (jii) getting a number greater than 6?

Q.29 Find the length of the side of a square whose area is 441 m?,

| =

X S0 Y
Q.30 Sol'.rf.-.2 i =¥

-

Q.31 An article was purchased for Rs1239 including GST of 18%. Find the price of the article before GST was
added?

OR
During a sale, a shop offered a discount of 10% on the marked prices of all the items. What would a customer
have to pay for a pair of jeans marked at Rs1450 and two shirts marked at Rs850 each?

. 2 -3 1 3 3
Q.32 Flﬂd; = T % ;X s

Q.33 The adjacent figure HOPE is a parallelogram. Find the angle measures x, y and z.
State the properties you use to find them.

OR

In the above figure both RISK and CLUE are parallelograms. Find the o s/
value of x,




Q.34 Find the least number that must be added to 1300 so as to get a perfect square. Also find the square root
of the perfect square.

OR
A gardener has 1000 plants. He wants to plant these in such a way that the number of rows and the number of
columns remain same. Find the minimum number of plants he needs more for this.

Q.35 Parikshit makes a cuboid of plasticine of sides 5 cm, 2 cm, 5 cm. How many such cuboids will he need to
form a cube?

SECTION: -E

Q.36

CLASS:-VIII
DISPLAY BOARD

70° X/ w
P I

Class-VIII Display board is in the shape of a parallelogram PINS. Students marked the corners to paste the
following things:
(i) At angle x they want to write class and section. What is the measure of angle x?
(ii) At angle w they want to hang a chandelier. What is the measure of angle w.
OR
At y they want to paste their school emblem mono. What is the measure of angle y.
(iii) At angle z they want to stick the class timetable. What is the measure of angle z.

Q.37 Hm;:;ﬁ/rem Education for
= children
Transport 15%
5%

Food
25%

Savings ——
15%

Clothes
10%

: Adjoining pie chart (Fig 4.4) gives the expenditure (in percentage) on various items and savings of a family
during a month.

(i) On which item, the expenditure was maximum?

(ii) If the monthly savings of the family is Rs 3000, what is the monthly expenditure on clothes?
OR

If the monthly house rent is Rs 2000, what is the monthly expenditure on transport?

(ii) Expenditure on which item is equal to the total savings of the family?

4



Q.38

A picnic is being planned in a school for Class VII. Girls are 60% of the total number of students and are 18 in
number. The picnic site is 55 km from the school and the transport company is charging at the rate of
Rs12 per km. The total cost of refreshments will be Rs4280.

(i) Find the cost per head if two teachers are also going with the class?
(ii) Find the ratio of the number of girls to the number of boys in the class?
OR
Find the ratio of the number of girls to the total number of students in the class?

(iii) If their first stop is at a place 22 km from the school, what per cent of the total distance of 55 km is this?
What per cent of the distance is left to be covered?



SAMPLE PAPER

SCIENCE
Time- 3 hours CLASS-8 Marks-80
1. Select the pair of crop that is best suited for crop rotation practice.
(a) Wheat and maize (b) peas and beans
(c) Millet and groundnut (d) pulses and beans. 1

2. Water logging in fields is harmful for crops because
(a) it deprives the roots of air necessary for plants, hence suffocates them.
(b) it increases the salt content of the soil.
(c¢) it promotes the growth of weeds in the field

(d) Botha & b. 1
3. Which of the following helps to restore the nutrient content of the soil?

(a) Crop rotation (b) field fallow

(c) Harvesting (d) botha & b. 1
4. Unicellular fungi is

(a) penicillium (b) mould (c) mushroom (d) yeast. 1
5. Nitrogen can be fixed by

(a) Some bacteria ’ (b) some blue green algae

(c) Lightning (d) all of these. 1
6. Which of the following group of microbes cause malaria?

(a) Bacteria (b) Fungi (c) protozoa (d) Algae 1
7. Which of the following represents the best quality coal?

(a) Bituminous (b) anthracite (c) peat (d) lignite. 1

8. Select the incorrect statement-
(a) Naphthalene balls are mainly obtained from coke
(b) Coal gas was used for street lighting
(c) On heating, coal produces nitrogen dioxide

(d) Both a and c. 1
9. On strong heating of coal, which of the following is not formed?

(a) Coal gas (b) coal tar  (c) coke (d) bitumen. 1
10. Burning of coal dust in a coal mine is an example of

(a) spontaneous combustion (b) explosion

(c) Rapid combustion (d) slow combustion. |
11. Which of the following fuels has the lowest calorific value?

(a) Coal (b) petrol (c) methane (d) Hydrogen gas. 1
12. Which zone of a flame does the goldsmith use for melting gold and silver?

(a) Luminous zone (b) non- luminous zone (c) dark zone (d) all of these. 1
13. Select the pair of endemic species-

(a) Bison & flying squirrel (b) flying squirrel & snow leopard

(c) Asiatic lion & Bison (d) Indian giant squirrel and snow leopard 1
14. Conservation of biodiversity is essential because

(a) it balance in ecosystem (b) it provides variety of commodities

(c) it is necessary for human existence. (d) All of these. 1



15. Which of the following is not a consequence of deforestation?
(1) species extinction due to loss of habitat
(ii)  desertification
(iii)  enhanced greenhouse effect and global warming
(iv)  earthquakes and volcanic eruptions
(v) climatic changes
(a) i & v only (b) iii only (c) ii & iii only (d)ivonly. 1

16. When embryo gets embedded in the soft thick lining of uterus, it is called
(a) fertilization (b) ovulation (c) implantation (d) menstruation. 1

17. Assertion (A)- fertilizer is a man —made inorganic salt,
Reason (R)- manures provide a lot of humus to the soil. 1
18. Assertion (A)- Global warming is the rise in temperature of the atmosphere of the earth.
Reason (R)-increased concentration of CO2 in the air is believed to cause global warming 1
19. Assertion (A)- Reforestation is restocking of destroyed forests by planting new trees.

Reason (R)- Reforestation can take place naturally also. 1
20. Assertion (A)- Budding and binary fission are two methods of sexual reproduction.
Reason (R)- in sexual reproduction two parents are involved. 1
21. Define a)Rabi Crops b) Winnowing 2
OR
Write a note on Sprinkler System of irrigation.
22. What is pasteurisation? Who discovered it? 2
OR

What do you mean by a) fermentation b) antibiotics?
23. Can sunlight get exhausted by human activities?. Give your answer with reasons.
24. What are consequences of deforestation (any four) ?
25. What will happen if we go on cutting trees?
26. Write two differences between internal and external fertilisation.
27.a) Write various steps of agricultural practices with proper order ?
b) Write note on seed drills.
28. What are communicable and non-communicable disease? Give two examples for each.
29. Explain the process of formation of petroleum? Why petroleum is called black gold? 3
30. a) Explain why fossils fuels exhaustible natural resources.
b) What are advantages of using CNG and LPG as fuels?

S T S I oS i o8

L oL

OR
Explain a) Carbonisation b) Coal Gas ¢) Coal tar
31. Write short note on a) acid rain b) global warming ¢) Calorific value 3
32. Inan Experiment 5.5 Kg of fuel Biogas is burnt completely. The total heat produced by the biogas
is found to be 220000 .Find calorific value of the biogas. 3
33. Differentiate between i) flora and fauna ii) Endangered and extinct species iii) Zoo and wildlife
sanctuary. 3

34. a)Name the causative organism for following diseases i) Malaria ii)Polio iii) Cholera
iv) Tuberculosis v) Rust of wheat vi) Citrus Canker
b) Draw diagram of i) Paramecium and ii) Bread Mould 5
OR



35.

36.

37.

38.

39.

What do you mean by Nitrogen Cycle ? Draw neat and labelled Block Diagram of Nitrogen
Cycle.

a) Compare LPG and wood as fuels .

b)Write Characteristics of an ideal fuel( any four points). 5

OR

Describe an activity to show that air is necessary for combustion under the given heads
(1) Material required ii) procedure iii) observation and iii) conclusion iv) diagram.
Describe the process of fertilisation in human beings. Draw diagram of female reproductive organs
in female. Also write two differences between zygote and foetus. 5

OR
Define asexual reproduction .Describe two methods of asexual reproduction in animals. Also draw
stepwise diagrams for each case.

Case based questions.

Read the following paragraph and answer the following questions.

Reproduction is a process which occurs in all plants and animals. It is not essential for an individual
but is essential for the continuation of species. It ensures the continuation of similar kinds of
individual’s generation after generations. Just like plants animals also have different reproductive
parts. Like plants, the reproductive parts in animals also produce gametes which fuse to form
zygote.

(a) State the importance of reproduction. 1
(b) Name the different organs of male reproductive parts in humans. 1
(c) State two differences between zygote and foetus. OR state two differences between sexual and
asexual reproduction. 2

Deforestation means clearing of forests and using that land for other purposes. Trees in the forest
are cut for procuring land for cultivation, building houses and factories and for making furniture
or using wood as fuel. Deforestation increases the temperature and pollution level on earth. It
increases the level of carbon dioxide in the atmosphere. Ground water level also gets lowered. It
disturbs the balance in nature. If cutting of trees continues, rainfall and the fertility of the soil will
decrease. Moreover, there will be increased chances of natural calamities such as floods and

droughts.

(a) State two natural causes of deforestation. 1
(b) What happens when the carbon dioxide on earth increases? 1
(c) How fertility of the soil decreases? OR Define deforestation? State any two causes of
deforestation. 2

The substances which are added to the soil in the form of nutrients for the healthy growth of plants
are called manure and fertilizers. These nutrients are essential for the growth of plants. In certain
areas, farmers grow crop after crop in the same field. The field is never left uncultivated of fallow.
Continuous cultivation of crops makes the soil poor in nutrients. Therefore, farmers have to add
manure to the fields to replenish the soil with nutrients. This process is called manuring. Manure
is an organic substance obtained from the decomposition of plant or animal waste. Fertilizers are
chemicals which are rich in a particular nutrient.

(a) Name two fertilizers. 1
(b) What are manures? 1
(c) State two advantages of manure. OR what is crop rotation? State its advantage. 2
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DELHI PUBLIC SCHOOL
Mid Term Examination 2023(Sample Paper)

Subject : ICT Class : VIII
MM : 50 Time: 1 hr 30 min
Multiple Choice Questions: (1x10=10)

1. .......describes a computer that is connected to a network.

a. Node b. Device c. Unit d. Attachment
2. Acomputer network that spans across a city can be called a .......

a. LAN b. MAN c. WAN d. CAN
3. .........can convert the digital data into analog signal and vice versa.

a. Hub b. Modem c. Router d. LAN Card
4. The process of displayin the information from the table is called...........

a. Query b. Report c. Form d. Wizard
5. Which of the following is not a data type in LibreOffice Base?

a. Number b. Text c. OLE d. Yes/No
6. Which of the following options is used to create a table?

a. Table design view b. Table data view c.Bothaandb d. None of these
7. Which feature in LibreOffice Base allows us to retrieve data from a table?

a. Query b. Report c. Form d. Wizard
8. Which of the following is an organized way of creating, editing and displaying data from the table?

a. Query b. Report c. Form d. Wizard
9. Which of the following conditional statements is used to test multiple conditions?

a. if b. if....elif....else c. if.....else d. All of the above
10. Which of the following is an looping statement in Python?

a. for statement  b. if statement c. while statement d. break statement

Fill in the Blanks: (1x5=5)

1. InPythonthe non zero value is interpreted as.. =
2 ..is established between two tables based on the Primary key.
3 After creatmg the query we need to run the query by clicking on the ........ --->Run Query.
4. The collection of related records is called..............
5. ...Is set of rules that governs the communication between computers on a network.
Write ‘T’ for true and ‘F’ for False (1x5=5)
1. Aserver isalso called as host computer.
2. There are two types of databases.
3. Youcan run the query only once.
4. We can use do-while loop in Python.
5. We cannot create our own functions in Python.

Long answer questions:
1. Give any one use of report feature in LibreOffice Base. 2
2. What is looping? 2
3. What is flat file database? 2
4, What is a topology? 2
5. What is Primary key? Why is it necessary to have a primary key in a table? 3
6. Write the syntax of if statement. 3
7. Differentiate between Table Data View and Table Design View. 3
8. Name the various components needed for a computer network. 3
8. What are the advantages of the Database Management System? 5

10. Distinguish between continue and break statement. 5



